
Il mito . has 2membrane
outer,matrix , inner mem. is bent and looped and has E
inner

transport chain machinery
2) between innerTouter , there's intermembrane space .

3) why is mito. is convoluted ? to increase surface



mito. e bacteria fused witheukaryoticATP

2 membrane system since bacteria has

what made them think mito. is bacteria cell wall + cell membrane

has it's own genetic and chromosome
of mito. is circular as bacteria



anything can get inside intermem. space outer

-entry of mole. inside throughmem. is'nt
open , not regulated regulated.

used for e transport chain

-thing go out and in

-

/metabolism
FA Oxidation (Beta)



&means they're not randomly located in cell , located in places need
more energy

↳depend on needs ofcell
tstate ofmito.

muscle cell has highnum. of mito . Compared to cell don't need that much energy

old mito . fuse with other one

1) old ppl get tired easily cur mito . isn't effective as it was when he was young



mito . DNA small , there's many copies of in mito (210) copycircular

mito. Comes from mother

Sperm useless when it come to organelle
ppI studied mito . DNA



IfAlbeta Oxidation

most protein from nuclear DNA not from mito.DNA

presequenceaget recognize by certain protein and protein carry it inside outer membrane
and goes through channel (Tom comp.)

transmembrane domain get recognized by Tim Channel
and make protein on the inner membrane of mito. As what happen in ER

Tom-Translocase of outer membrane
Tim - inner membrane

- during the entry ofprotein inside mito. presequence is cleared off and then folding
happen inside mito .
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Tim translocasene insert protein inside mito. matrix or into inner membrane

Tom, oget protein inside through outermembrane

Oxa,insertmitochondrial protein into inner membrane

Serinea inside mito..

mito ER

Phosphatidylserine phosphatidylcholine
phosphatidylethanolamine



- has U Fatty acit chain

-produced from 3 glycerol molecules
* glycerol imp. for cardiac muscle , increase efficiency of E transport Chain


